
R0015301 Fit terminal holders and Ethercat boxes

Control installation

Introduction
Tools Required

Standard screwdriver set

Standard hex key set

Parts Required

E0000519 Relay x 8

A0000160 Relay base x 8

C0001018 Ethercat box x 8

D0010806 Mounting plate x 8

Easy 1 hour(s) Dif.culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Fit relay mounting plate

Step 3 - Mount Ethercat boxes

Step 4 - Adjust Pipes

Step 5 - Check

Step 6 - Relay bases and relays

Comments

Step 1 - Unless otherwise stated
Use Loctite 243 on all fasteners

Pen mark bolts to indicate .nalised

Page 1 / 3

https://stuga.dokit.app/wiki/Fichier:R0000712E_Rotary_Trunking_Screenshot_2023-05-31_084239.png


Step 2 - Fit relay mounting plate
1 Segregate cables and pipes as shown in image

2 Mount D0010806 relay mounting base using 4 off M3x 25 pan head screws

3 Repeat for 7 off other connection boxes



Step 3 - Mount Ethercat boxes
Use 2 off M3 x 20 pan head screws with 3 off M3 A Form washers

per fastener ( to correctly space .xing length ) to mount C0001018

Ethercat boxes to all 8 connection boxes

...Ensure white ident markers that are provided with the

ethercat boxes are safely stored ready for electrical

installation

Page 2 / 3

https://stuga.dokit.app/images/thumb/f/f3/Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092220.png/ia-67e10fa1827cc65ed662d4373558fe60-1000px-Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092220.png.png
https://stuga.dokit.app/images/thumb/5/5b/Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092405.png/ia-7d80da50f11c0cb7dff29a264c591d7c-1000px-Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092405.png.png
https://stuga.dokit.app/wiki/Fichier:Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092757.png


Step 4 - Adjust Pipes
4 off connection boxes

4mm feed pipes to cylinders can now been adjusted in length to

.nalise

See image

Step 5 - Check
1 Motor replacement end caps D0010908 are .tted

2 Blanking m4 x 6 button screws are .tted to single slide spindle

motors

Step 6 - Relay bases and relays
Ensure E0000519 relays and A0000160 relay bases are stored with ring ready for handover

Page 3 / 3

https://stuga.dokit.app/images/thumb/1/11/Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092946.png/ia-e3fd8af5d2eccf38e71d4f014e722694-1000px-Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_092946.png.png
https://stuga.dokit.app/images/thumb/9/9b/Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_093241.png/ia-33156922dc136347e236a382ca3ecfc3-1000px-Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_093241.png.png
https://stuga.dokit.app/wiki/Fichier:Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_095945.png
https://stuga.dokit.app/wiki/Fichier:Fit_terminal_holders_and_Ethercat_boxes_Screenshot_2023-06-02_095937.png

	R0015301 Fit terminal holders and Ethercat boxes
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Fit relay mounting plate
	Step 3 - Mount Ethercat boxes
	Step 4 - Adjust Pipes
	Step 5 - Check
	Step 6 - Relay bases and relays


